C 41c++ x C 42.c++

wvscode > € 41.c++
#include<iostream>
using namespace std
int main()
{
int a, b;
cin >> a >> b;
cout << a << "
cout << a <<
cout << a <«
cout << a <«
11 return 0;
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C 43.c++

DEBUG CONSOLE

TERMINAL

<< a + b <«
<< a - b <«
<< a/f b«
<< a * b ««

PORTS

“\n";
“\n";
“\n";
“\n";



42.c++ x

vscode ? A2.c++

using namespace std;
int main()
d
string namel;
cout<<"What is student 1 name: ";
cin>>namel;
string id1;
cout<<"His id: ";
10 cin>>1id1;
double gradei;
cout<<"His math exam grade: ";
cin>>gradel;
string name2;
cout<<"What 1s student 2 name: ";
cin>>name2;
string 1d2;
cout<<"His id: ";
cin>>1d2;
double grade2;
cout<<"His math exam grade: ";
cin>>grade2;
cout<<"\nStudents grades in math\n";
cout<<namel<<” (with id "<<id1<<") got grade: "<<gradel<<"\n";
cout<<name2<<” (with id "<<id2<<") got grade: "<<grade2<<"\n";
cout<<"Average grade 1s "<<(gradel + grade2) / 2.0<<"\n";

return @;
PROBLEMS QUTPUT DEBUG CONSOLE TERMINAL PORTS

His id: 555
His math exam grade: 30

Students grades in math

mostafa (with id 111) got grade: 20
Ali (with id 555) got grade: 30
Average grade is 25
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403.c++ X

4.03.c++ > @ main(
#include<iostream>
using namespace std;
int main()
il
int evenl, even?, even3, evend;
int oddl, odd2, odd3, odd4;
cin>>»oddl>>evenl;
cin>>»odd2>>even2;
cin>>odd3>>even3;
cin>>odd4>>evend;
int even _sum = evenl + even2 + even3 + evend;
int odd sum = oddl + odd2 + odd3 + odd4;
cout<<even sum<<"” "<<odd sum<<"\n";
return @;
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#include<iostream>

using namespace std;
int main()
5 int numl, num2, num3;

numl = @, num2 = 1, num3 = numl + num2, cout <<num3<<"\n";

numl = num2, num2 = num3, num3 = numl + num2, cout <<num3<<"\n";
numl = num2, num2 = num3, num3 = numl + num2, cout <<num3<<”“\n";
numl = num2, num2 = num3, num3 = numl + num2, cout <<num3<<"\n";
numl = num2, num2 = num3, num3 = numl + num2, cout <<num3<<"\n";
numl = num2, num2 = num3, num3 = numl + num2, cout <<num3<<”"\n";
numl = num2, num2 = num3, num3 = numl + num2, cout <<num3<<"\n";
numl = num2, num2 = num3, num3 = numl + num2, cout <<num3<<”"\n";
numl = num2, num2 = num3, num3 = numl + num2, cout <<num3<<"\n";
return @;
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#include<iostream>
using namespace std;

v | int main()
{
int num = @;
++num;
num *= 106;
num += 2;
num = num * 18;
num += 3;

num = num * 10 + 4;

num = 5 + num * 18;

num = (num * 10 + 6) * 10 + 7;

num =5 * num * 2 * 1 +5 + 2 + 1;
cout<<num<<“\n";

return 6;
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#include<iostream:>
using namespace std;
int main()
{
int numl, num2, num3;
cin>>numl>>num2;
num3 = num2;
num2 = numl;
numl = num3;
18 cout<<numl<<”™ "<<num2<<endl;
return 0;
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#include<iostream?

using namespace std;
int main()
{
5 int numl, num2, num3, temp = -1;

cin>>numl>>num2>>num3;

temp = num2;

numz2 = numl;

numl = temp;

temp = num3;

num3 = num2;

num2 = temp;

cout<<numl<<” "<<num2<<” "<<num3<<"\n";
Cc1n>>numl>>num2>>num3;

temp = numl;

numl = num2;

num2 = num3;

num3 = temp;

cout<<numl<<” "<<num2<<” "<<num3<<"\n";

return 0,
PROBLEMS OUTPUT DEBUG CONSOLE ~ TERMINAL  PORTS
115
20
301
20 381 115




#include<iostre
using std;
main()

a, b;

>>» a >> b;

equ 1s 1 = a * a;

equ is neg 1 = 2 * a + 1;

is1=(b+ 1) / 2;

is neg 1 =1 - 1s 1;
cout<<is 1 * equ 1s 1 + 1s neg 1 * equ 1s neg 1;
return 0;




#include<iostream>

using std;
main()
{
n;
cin »> n;

cout<< n * (n+1) / 2;

return @;




